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Please read each of the following instructions carefully before attempting questions.

IR & ¥ gd Fgfofad e &f suar aaurigds e |

1.

There are EIGHT questions printed in both. English and Hindi.

ST 3113 Uy § ot Sidieh SR Rt a Il A BU G |

Candidate has to attempt FIVE questions in all either in English or Hindi.

IrflcaR &l Pa Ufd Usi b SR St ar iRl A3 ® |

Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be
attempted.

Ty TR 1 G § | A9 A1 Us B F IR Ul & SR <o |

All questions carry equal marks. The number of marks carried by a question/ part are
indicated against it.

Tt vt & T i § | IS Ty / W & I sl I A fau e R |

Write answers in legible handwriting. Illustrate your answers with suitable sketches and
diagrams, wherever considered necessary.

gquray ferarae § IR Al | 518t ot e qre ST, 98T 3iu- ITRI & IUged YW 3R
3R b 1Y Y HIfoT |

Each part of the question must be answered in sequence and in the same continuation.

Y & U BT IR 34T A H a1 i =1feu |

Attempts of the questions shall be counted in sequential order. Unless struck off,

attempt of a question shall be counted even if attempted partly. Any page or portion

of the page left blank in answer book must be clearly struck off.

Tt & ITRI BT UM HHLHR B SME | 31 30 F U T8 ueii & IR &+t A1 < smaeft
g IV PHIeT ol T B | WTell BIS 7T Bbis Hi G 3f4al G§ & YR Pl guid: HIe I |
Re-evaluation/ re-checking of answer book of the candidate is not allowed.

IUEAR B STIRYRIDT &1 G H / TF: Sid DI A TS 3 |
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Answer each of the following in around 150-200 words.

farafaf@d # & g F1 IaX eererar 150-200 rear H QAT
(» New Tax Regime for FY 2024-25 (Section 115 BAC)

o a¥ 2024-25 & T 75 T TIEAT (URT 115 o)

(b) Branches of Accounting
TGiehed T AT
() “An auditor is a watchdog not a bloodhound.”

“Teh oIl WIeTeh Ueh IRl 8 § o 7o Ueh RISRT Fell|”
(d) Limitations of Internal Rate of Return (IRR)

3TaRe ReoT X (38 3R 31R) Fr dAT

M/s Sudheer purchased six electric scooters from M/s Aggarwal on 1% April, 2021 on

the following terms:

Down payment Rs. 3,00,000
1% instalment payable at the end of FY 2021-22 | Rs. 1,59,000
2" instalment payable at the end of FY 2022-23 | Rs. 1,47,000
3" instalment payable at the end of FY 2023-24 | Rs. 1,65,000

Interest is charged @10% per annum on reducing balance.

M/s Sudheer provides depreciation @ 20% per annum by diminishing balance method.
On 31% March 2024. M/s Sudheer failed to pay the 3™ instalment upon which M/s
Aggarwal repossessed two scooters. M/s Aggarwal agreed to leave the other four scooters
with M/s Sudheer and adjusted the value of the repossessed scooters against the remaining
amount due on them. The scooters taken over were valued on the basis of 30%
depreciation per annum on written down value. The balance amount remaining in the
vendor’s account after the above adjustment was paid by M/s Sudheer after 5 months with
interest @15% per annum. M/s Aggarwal incurred repairing expenses of Rs. 15,000 on
repossessed scooters and sold them for Rs. 1,05,000 on 25" April 2024,

You are required to:
I.  Calculate the cash price of the Scooters and the interest paid with each instalment
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Il.  Prepare Scooters Account and M/s Aggarwal Account in the books of M/s
Sudheer

[ll.  Prepare Goods Repossessed Account in the books of M/s Aggarwal.

AGH gUR A 1 38, 2021 T AT 3T § Fefaf@d odt ” oF
gelfdrgeh Fhed THC:

213 T 3,00,000 9
faa a§ 2021-22 & 3fd # ¥ ygel fed: 1,59,000 9
fad a¥ 2022-23 & 37d & ¢ gl fhed: 1,47,000 T
faa a¥ 2023-24 & 3d A &g NE fFea: 1,65,000 T9
ged U AY W 10% 9fd a¥ sarer foar s &

HEE gUR "ged gu AV R garr 20% 9fd a¥ ¥ &I & FeIerd JeT Al
gl

31 AT 2024 H AFH R A Fhed &1 T a0 A faver w1, 99
W AGH a7 & Thed ad o fAUl HEH 3pEe F 30T IR el
A gUR & 9 BIsA W HeATd o¥eFd 1 IR 3 W ghrm AT AR &
faectr aud fav 70 TR & Hed @ FARITGT fhar| fRared et &
Hodichel TG Hed W 30% i a¥ Hedgd & YR WX fhar arar
3WIFd AR & 16 fashel & @i & AY WA 7 7T HAG L A 5
AE 916 15% 9fd a¥ sarer & 9y far| 399 3EEea & agg fau e
THed W 15,000 ¥ H AGFAT T 36RT IR 3¢ 25 3 2024 &
1,05,000 39 & s &I |

39T fAFT AT I

|. TheX dI dehg FAT I Jdh fhed W QU 1T sT1eT & 07T Y |
Il AEE G H qFad # FHeX Trar 3R AQH 3ET el AR H |
. AEE 37ararel HT TEAh H Hlel Yol Teoll Tl IR & |
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3. (a) The standard product cost card of a product is shown below.

Materials 2 feet length, 1/4 inch thick | @ | Rs. 16 =Rs. 32
Labour 4 hours: @ Rs. 6 =Rs. 24
Factory overhead:

Variable 4 hours @ Rs.2| =Rs8

Fixed 4 hours @ Rs.4 | =Rs 16 =Rs. 24
Total standard production cost = Rs. 80

Fixed overhead was based on 36,000 hours a year.
Total fixed overhead estimated at Rs.144,000 per annum.
Actual data for a month has been ascertained as follows:

e Actual hours worked = 3,800

« Units of product produced =900

o Material used = 1,900 feet in length

o Price per foot =Rs.15

« Actual labour wage rate = Rs. 5.80

o Actual factory overhead: variable  =Rs. 6,200, fixed = Rs. 12,000

You are required to calculate the following variances:

(1) Total Material Cost Variance

(i) Material Usage Variance

(i)  Total Labour Cost Variance

(iv)  Labour Efficiency Variance

(v) Labour Wage Rate Variance

(vi)  Total Factory Overhead Variance

(vii)  Factory Overhead VVolume Variance
(viii) Factory Overhead Controllable Variance

fpdY 3cUTe FT AR 3cUI deTd HIs A @rr I=m §

AT 2 B oS, 1/4 9 Aers | @ | Rs. 16 =Rs. 32
HH 4 €bc: @ | Rs.6 = Rs. 24
therdl 3iTavgs:

IRad=T 4 g¢ @ | Rs.2| =Rs8

fARed 4 € @ | Rs.4| =Rs16 = Rs. 24
Fo AAH U AT = Rs. 80

fAfRee 3iees 36,000 € wid a¥ o 3menRa ol
Fol AfRE 3aTgs &1 ITAE 144,000 &. it a¥ &
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T HEl & AU aredfde Ser AR HeTRa fear o ¢

grEdias &1H fHU T g = 3,800

3cUTed 3cUTG I Shrsal = 900

39T Hr IS [T = 1,900 Hie oS
gfa $ie SHrAd =15 %.
IR HH AGH & = 5.80 .

arEafas therdy 3NaRgEs: gRadeT = %.6,200, Afaa = $.12,000

el fAFATaT@d faeRoi dr oTaAr et grem:
) ol AHM AETT fawRoT

) |rHIAT 3gAET RO

iii) el HH e faeRor

iv) A gaTdar fa=RoT

V)  HH Helqll & faerer

vi) el therdl 3iatgs faeror

(viiy herdT 3NaEs dfegH faeroT

(@) Explain four main reasons, time preference of money is based on.
IR HEY FRON H Aedr # 58 R 4 h7 FAF aQqIdT 3meid gl

(b) What is operating cycle approach to determining working capital? Enumerate three main
components, the operating cycle consists of.

FrIENe Golt RuiRa e & fav aR=res o fSewior #ar g2 aR=ree o%
A AT AT HET et H 0T H|

(c) Mr. X wants to go on a world tour after 10 years. The tour is expected to cost him Rs.

7,00,000. How much should he save annually to have the required sum after 10 years if
rate of interest is 10% p.a. [Use (1+r)" = 2.59374]

At TFE 10 I 91 fAg FHUT W ST I8d 81 39 R 9 3% 7,00,000
T @I gl Hr 3FAG g1 IfS saer X 10% 9fa a¥ § ar 10 9 91
Eeed A gcd A & v 308 Freer  fhdel s9d e
AqgT? [(1+r)" = 2.59374 T 39T ]
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(d)

(€)

(@)

Mr. X deposits Rs. 5,00,000 on his retirement in a bank on which interest is provided at

the rate of 10% p.a. How much money in equal instalment can be withdrawn annually

L -0.3855]

(1+r)n
A Ty 5,00,000 T i AR dF A FAT Fa § TG W 10% gfa avw i
T O a1 fear Smar g1 10 ay &1 3afe & fov gfaay susx foreal & fhasr
Tfer [Feprell ST FohdT 87 [ = 0.3855 & 92T FY

(1+r)"

for a period of 10 years? [Use

There is a project proposal with the following pattern of cash flows:

Year Cashflows (Rs.)
0 -50,000
1. +1,45,000
2. -1,00,000

Calculate Internal Rate of Return in respect of above project and compare it against
NPV of the project to be calculated at 10% rate of discount commenting critically on
your findings.

Jhel Jag & Arafaif@d e & I e IRANST 9&d1d &

a¥ qHE! Y4 (%.)
0 -50,000
1. +1,45,000
2. - 1,00,000

39S RIS & HIL H AR Ffaher e HT 0= w3 10% Fe
eX W AUTAT T ST dTell GRASTAT & T WA & A SHBT Jolell Y AT
39a fasenst )X 3TeaecAs feoaol &)

"Cost Accounting is becoming more and more relevant in the emerging economic scenario

in India." Comment.

"URT & I 3T aRET A dRTT W@y 3ifaae grafde giar o1 &r
g1" feogoly &)
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(b) “The recent trends highlight the dynamic nature of the auditing profession in India and 12
underscore the need for auditors to continuously update their skills and adapt to changing
regulatory and technological landscapes.” Elaborate in the light of country's evolving
business environment, regulatory changes, advancements in technology, IFRS, and ESG
Audit.

BT & TSI R H oEmadeT 99 #r aifaefier s & 39R axa § 3R
AWIAETHT & T 3T FHIAST I TRMAR HeIdd F AR deod FamAs
3R et aReedl & 3eThel glet 1 HAIHAT F (@ifha Fd 31" U &
ferfld gid sRIERY ARgld, s aRkader, dledifdchr # 3=1fa, IFRS, 3Rk

ESG 3fifsc & 9ol & [{EaR & aary|

(@) Briefly describe the types of Amalgamations according to AS-14. 4
T UH-14 (AS-14) & 3[HR FHHT & YR H H&T H qUl AL

(b) The financial position of P Ltd. And Q Ltd. As on 31.03.2023 was as under: 16
Particulars P Ltd. Q Ltd.
Liabilities
Share Capital:

Equity shares of Rs. 10 each. 5,00,000 4,00,000
10% Preference Shares of Rs. 100 each 4,00,000 2,00,000
General Reserve 1,20,000 -
Securities Premium 30,000 20,000
Surplus 80,000 50,000
10% Debentures 90,000 60,000
Sundry Creditors 60,000 30,000
Total 12,80,000 7,60,000
Assets:

Goodwill 1,00,000 20,000
Land & Buildings 4,80,000 2,80,000
Plant & Machinery 3,00,000 1,07,000
Furniture 1,00,000 60,000
Investments 1,00,000 1,00,000
Stock 1,00,000 80,000
Debtors 80,000 70,000
Bank 20,000 40,000
Discount on Issue of Debentures - 3,000
Total 12,80,000 7,60,000
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A new company PQ Ltd. Was formed on 1.4.2023 to acquire the business of P Ltd. and

Q Ltd. with an authorised capital of Rs. 15,00,000 divided in Equity Shares of Rs. 10 each.

The terms and conditions of acquisition were as under:

(i) The business of P Ltd. was considered worth Rs. 11,50,000 and was discharged by
issuing 57,500 equity shares at Rs. 20 each.

(it) The business of Q Ltd. was considered worth Rs. 5,50,000 and was discharged by
issuing 27,500 equity shares at Rs. 20 each.

(iii) Liquidation Expenses of P Ltd. amounting to Rs. 10,000 were paid by PQ Ltd.

(iv) 12,000 equity shares in PQ Ltd. were issued to public at Rs. 20 per share.
Pass necessary journal entries in the books of transferee company and prepare its

Balance Sheet by following AS-14 in the nature of merger.

31.03.2023 & W1 fafAes AR #g fafaes & fadr Rufd Awgar o

faavor @ fafes | g fafaes
ggam
AT ot
10 39 A% & sfFadr A 5,00,000 4,00,000
100 39 A% & 10% aIar RR| 4,00,000 2,00,000
g Red 1,20,000 -
RS NfaTa 30,000 20,000
eaH 80,000 50,000
10% f3e=’ 90,000 60,000
fafaer aeer 60,000 30,000
Tl 12,80,000 7,60,000
e
Tarfa 1,00,000 20,000
A 3 srae 4,80,000 2,80,000
Telie 3R #Lf= 3,00,000 1,07,000
AT 1,00,000 60,000
faer 1,00,000 1,00,000
wih 1,00,000 80,000
ARy 80,000 70,000
EE0 20,000 40,000
3T Sl &t W ge - 3,000
el 12,80,000 7,60,000
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a1 fafAes 3R g @fAes & #RIER @1 AR o & v 1.4.2023 &
T o5 Huet O Fg fAfAes & area fhar aram fSrgehr 3f@ed gt 15,00,000
9T o [T 10 T9F Uds & sfFadr R & faenfaa Far a=r
3if8argor &7 ed 3R A9 59 g o

(i) @ fofees &1 RIS’ 11,50,000 TG FT AT SATAT AT IAT 20 I9F 9T
AW & @@ § 57,500 sfFadl I AN ik 38 AT HX far arm|

(i) g fIfACs & SRR 5,50,000 TIA T AT IR-T TAT 20 F9T 9T AT
& g ¥ 27,500 3Faer RR AR P 3/ AT F AT I3

(i) @ fafAes & 10,000 T & REATA =TT F T o Fg fafaes
can fehar |

(iv) & ¥ fafes # 12,000 3Fadr =R 20 +0d ofy ™R & Raw &
SAdT Pl SR fhT I

BEIARC hUell I TET A HTaTH STolel TATSeAl Y AT faerd & Tepfd
%WAS-Mwwaﬂﬁgtrsﬂﬁéﬁﬁaﬂtmﬁl

Find out the tax liability of Mr. X (26 years) from the following data for the Assessment
Year 2023-24, ignoring Section 115BAC pertaining to alternative tax regime:

Rs.

Agricultural income from Nepal (net profit on sale of crops) 38,000
Agricultural income from Sikkim 1,77,000
Share of profit from a firm (out of agricultural income in India) 2,00,000
Interest from the aforesaid firm 67,000
Long-term capital gain from sale of agricultural land in Delhi 94,000
Salary from MP Agricultural University (before standard deduction) 11,70,000
Interest on bank fixed deposit 64,000
Loss from growing and manufacturing coffee in India 2,70,000
Life insurance premium (sum assured in 2007: Rs. 4,00,000)

out of profit from firm 70,000
Contribution towards university provident fund 20,000
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dohfedsh T STGEAT § HfT GRT 115BAC 1 3Ffe@l X U, 3Hhelel I¥
2023-24 & fov AeAfAf@d 3er & X (26 aW) Fr F STAT HT IdT NT:

AT ¥ Hi 3T (FHeAT S b X YSEr oI1e)
fafFra @ $v M

forell & @ ey 1 fREaAT (IR A HN 317 # Q)

39 B § ST

fecell & T off &1 b & Qrefehifoleh Yeiere et
ALY el HY favafdeared @ ade (A Heldl & ggel)
dop gl AT 9T IS

HRA & HIr 3971 R FAFAHAOT & ehareT

W T AT A T SlaeT S NfAge (2007 & Sfiffaa ufen:

4,00,000 )
faRafacarey viasy @A & e

02

38,000
1,77,000
2,00,000
67,000
94,000
11,70,000

64,000
2,70,000

70,000
20,000

(@ What is operating cycle approach of determining working capital requirement? How

operating cycle is calculated?

RSl Goll T 3Maegenar TR el T IRETele ek TiSehIoT T §7?

IRl Teh I IUTAT hd Sl ST &7

(b) Let's assume a company has the following data:

Average Inventory:
Cost of Goods Sold

Average Receivables.

Credit Sales:

Average Payables:
Credit Purchases:

Rs. 5,00,000

Rs.20,00,000
Rs. 3,00,000
Rs. 36,00,000
Rs. 2,00,000
Rs. 18,00,000
Annual Operating Expenses: Rs.12,00,000

Based on above data, calculate company’s working capital requirement by applying

operating cycle method.
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AT AT 6 R Fuelt & g Arfaf@d ser ¢

o 3itga wioa 5,00,000 ¥
e &I IT HATA I AR 20,00,000 9
o 3ita urcy 3,00,000 ¥
o hisc Tosh: 36,00,000 ¥
o 3itHd ¥ 2,00,000 ¥9
o WHisT @Wa: 18,00,000 T
o ¥ gRETes =T 12,00,000 TG

3T 3T & HUR R IR ush A Ry o=t T srider et &r

3TaeThdT I ITUTAT |
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